Balancing Chemical Equations (Key)
Front Side

Please note that several of these equations are
unchanged from the worksheet.

2Hgz + Og9--> 2H0 26
2. Sg+ 12 Og > 8 503
@ 2Hg0 > 2Hg+ Oy
4. Zn + 2HC! ---> ZnClg + Hg )
(® 2Na+ 2Hy0 > 2NaOH + Hy
6. CipH1g+ 8Clg--> 10C + 16 HCI
4 SigHg + 1102 —> 88i02 + 6H0 32
8. 4Fe + 3 0g--> 2Fes03
@) 2 C7HEO2 + 1509 > 14CO2 + 6 Ho0 ", 34
10. 4 FeSo + 11 Qg ——-> 2 FeaO3 + 8 SO2
FegO3 + 3Hg --> 2Fe + 3H0
12. 2K + Brg ---> 2KBr :
@ 2CHy + 509 ---> 4C0O2 + 2H20
14. 2H909 --> 2H90 + Og
C7Hig + 1102 --> 7COz2 + 8 H0
16. SiO2 + 4 HF ---> SiF4y + 2H20
2KCIOg -—-> 2KCl + 302
18. 4 KCIO3 -—--> 3KCIO4 + KCI
@ P4O19 + 6 H20 -—-> 4 H3POy
20. 4Sb + 309 --> SbyOg
CgHg + 502 -—> 3CO2 + 4H20
22. FepO3 + 3CO —> 2Fe + 3COg
PCls + 4Ho0 --> 5HClI + H3zPO4
24. 8HeS + 8Clg ---> Sg + 16 HCI
3Fe + 4H0 ---> FegO4 + 4Hp
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already balanced as written. They, of course, are

. No 4+ 3Hgy ---> 2 NHj
2Ng + Og ---> 2 N0
. 6C09 + 6 H20 ---> CgHi20g + 6 O9

@ SiClL + 4HpO —> HySiO4 + 4HCI

. 2H3POy > HgP207 + H30
COg2 + 2NH3 ---> OC(NHg2) + H»0O

» 2AI(0OH)3 + 3 HoSO4 ---> Ala(SO4)3 + 6 Ho0
Feg(S04)3 + 6 KOH > 3 KSO4 + 2 Fe(OH)3

. HySO4 + 8HI --> HoS + 41 + 4H0
2Al + 3FeO --> AlyO3 + 3Fe

. NagCO3 + 2 HCl —--> 2NaCl + HgO + COg
Ps + 509 > 2P20;5

. KO + H0 ---> 2KOH

 4Al + 30z > 2Al03

. 2Nag02 + 2H20 --> 4NaOH + Og9
C + HO > CO + Hjy

. 2H3As04 --> As205 + 3 H20 _
Ala(S04)3 + 3 Ca(OH)2 --> 2Al(OH)3 + 3 CaS04

. FeClg3 + 3 NH40H --> Fe(OH); + 3 NH4Cl
2 Cag(POy4)2 + 6 Si0Ogy ---> P401p + 6 CaSiO3

. NoOs + Ha0 ---> 2HNOg
2Al + 6HClI --> 2AICI3 + 3Hsy

. 6 H3BOg ---> H4Bg(011 + 7H=20
3Mg + Ng --> MgsNo

. 2NaOH + Clg --> NaCl + NaClO + H20



